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B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2018.

Fifth Semester
Eeonomics — Main
Elective — INDIAN ECONOMY

(For those who joined in July 2016 onwards)

Time : Three hours Maximum : 75 marks

PART A — (10 % 1= 10 marks}

Answer ALL questions,

Choose the correct answer :

1. Indian Economy is an
fa) Capitalist economy
(b)  Socialistic economy
(¢} Mixed economy

()  Private economy

5]

BPL is used to measure

(n) unemployment
by poverty

{e) population

(d) GDP

Which is the least populated state in India?
{n) Sikkim by Pondicherry
(c}  Andaman (d) Delhi

Latest census data was taken place in India in the

yvear
(a) 2010 (b)y 2011
(cy 2012 (d) 2013

White revolution is related with
(a} Fish (b} Food grains
© Egg (d) Milk

The share of agriculture in Indian GDP is
(a) 1732 percent (b) 18 percent
{c)  18.52 percent {d) 16.84 percent
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Which is the largest iron and steel company in
India?

(a)  Birla Company

(b) Bhilai steel plant

(e} Tata iron and steel company

()  Durgapur steel plant

The latest industrial policy of India was released
in the year

(a) 2000 (b) 2007

() 2017 (d) 2018
The target of first five plan is
development.

(a)  Agriculture (hy Industry
(e) Service (d) Human

The chairman of NITI Aayog is
(a)  Mr. Rajiv Kumar

(b} M. Narendra modi

(¢) DMr. Ramnath Govind

(@) Mr. Venkainh Naidu
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PART B — (5 % 5 =25 marks)

Answer ALL questions, choosing either (a) or (b},
Bach answer should not exceed 250 words.

(a)

)

(b)

(a)

(k)

()

(b)

Explain the problems faced by Indian
Economy.

Oy

State the different types of unemployment in
India,

Explain the objectives of population policy
2000. ,

O

[lustrate the impact of migration on Indian
Economy,

Draw the features of Indian agriculture.

Or

What are the challenges of agricultural
marketing in India?

What is large scale industry? Explain its
importance.

Or
Which is the significant transport system in
India? Explain the reasons of it,
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(b

List out the objectives of five year plan
2012-17.

Or
Explain the role of NITI Aayog in India,

PART C — (6 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words,

16. (a)
(b)
17. (a)
(b)
18. (a)
(b)

Elaborate the characteristics of Indian
Economy.

Or
Describe the causes for poverty in India.

Give a detailed note on effect of over
papulation in India,

Or
What is migration? Explain the causes for
migration in India,

Illustrate the role of agriculture in Indian
Economy.

Or

Analyse the advantages and disadvantages
of green revolution in India.
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20.

(a)

(b)

(a)

(b)

Enumerate the importance of industrial
sector in Indian economic development,

Or

Elaborate the problems faced by small scale
industries in India.

Explain the importance of five year plans.

Or

Evaluate the achievements of various five
year plans in India,
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